4) Electronics Unlimited has the following capital structure: 60% stock, 10 % preferred stock, and 30% in debt. The after-tax cost of debt is 8%, the cost of preferred stock is 10%, and the cost of common stock is 15%. What is the Weighted Cost of Capital (WACC).

5) Your company’s fixed costs are $2 million and variable costs are $5 million. If revenue is $9 million, what is the company’s contribution margin?

b. What is the present value of $1,000 to be received in five years discounted back to the present at five percent?  
 c. What is the future value of $1,000 invested for 12 years at ten percent interest compounded annually?  
d. What is the accumulated value of $1,000 received annually for five years at five percent?  
10) a. A company has the following accounts: cash ($25,000), net income ($50,000) interest income ($12,000), accounts payable ($75,000), factory ($85,000), equity ($305,000), inventory ($75,000), and accounts receivable ($6,000). What is the current ratio for the company? Show your calculation  
What is the return on equity? Show your calculation  
12) Acme Consulting has the following operating data for last year.

Revenues $175,000

Supplies Expense $45,000

Salaries $70,000

Rent Expense $1,500

Accounts Payable $8,000

Administrative Expense $6,000

Cash collections from prior year’s sales $10,000


What is income before tax?
13) If Acme Consulting has equity of $500,000, what is its return on equity (ignoring taxes)? What is its net profit margin?
15) If the Euro is currently trading at 1.29 to the US Dollar, how many dollars does it take to pay a 900 Euro bill?
17) Cash Flow

($000’s)

	
	January
	February
	March
	April
	May
	June

	Sales
	100
	150
	150
	200
	200
	250

	Collections
	
	
	
	
	
	

	Current Month
	10
	15
	15
	
	
	

	Following Month
	75
	90
	135
	
	
	

	Total Receipts
	85
	105
	150
	
	
	

	Purchases of Inventory
	60
	80
	120
	120
	150
	150

	Payment for Inventory
	50
	60
	80
	120
	
	

	Payroll
	30
	30
	30
	
	
	

	Other Expenses
	10
	10
	10
	10
	15
	15

	Total Payments
	90
	100
	120
	
	
	

	Net Cash Flow
	(5)
	5
	30
	
	
	


Receipts for sales occur in the same pattern as the first three months of the year. For example, February’s $150,000 in sales are collected in February and March. Payments for purchases also follow the same lagging relationships as earlier in the year. On April 1 the staff receive a 10% pay increase (no change in employees or hours). What is the net cash flow for the month of June?
